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Class - IX
MATHEMATICS

Time : 3 to 3Y2 hours Maximum Marks :
YT : 39 31, T Afreram o :

Total No. of Pages :
% J3] hl A :

General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 4 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculators is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A
Question numbers 1 to 10 carry 1 mark each.
If x2+kx +6=(x+2)(x+3) for all x, the value of k is
(A) 1 B) -1 < 5

Zero of the zero polynomial is :
(A) 0 B) 1
(C) any real number (D) not defined

In AABC and ADEF, AB=DF and ZA= ZD. The two triangles will be congruent by SAS
axiom if :
(A) BC=EF (B) AC=DE (C) BC=DE (D) AC=EF

In AABC, if ZA=35°and £ZB=65°, then the longest side of the triangle is :
(A) AC (B) AB (C) BC (D) None of these

The points (=5, 2) and (2, —5) lie in the :
(A) same quadrants (B) II and III quadrants respectively
(C) II and IV quadrants respectively (D) IV and III quadrants respectively

The distance of a point (0, —3) from the origin is :
(A) 0 units (B) —3 units
(C) cannot be determined (D) 3 units

Which of the following is a rational number ?

(A) 5 (B)
(C) 0.101001000100001 (D) 0.853853853

Which of the following statements is incorrect ?
(A) A line segment has definite length.

(B) Three lines are concurrent if and only if they have a common point.
(C
(

Two lines drawn in a plane always intersects at a point.

)
D) One and only one line can be drawn passing through a given point and parallel to a
given line.

When p(x) is divided by ax —b then the remainder is :
(A) platb) (B) p(—b/a) (©) p(a/b)
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Which of the following points lie on the negative side of x-axis ?
(A) (=40 B) (=32 © © -4 (D) 6 =7)

SECTION -B

Question numbers 11 to 18 carry 2 marks each.

Evaluate : ,3/(343)_2

In the fig. 1, sides QP and RQ of APQR are produced to points S and T respectively.
If ZSPR=135° and ZPQT=110° find ZPRQ.

S

PO135°

<

T Q
Fig. 1

If the complement of an angle is one-third of its supplement, find the angle.

Factorise : 7+/2 x2—10x —4/2
OR
If a+b+c=7 and ab+bc+ca=20, find the value of a?+b?+c2

Find two rational numbers in the form % between 0.343443444344443 and

0.363663666366663

In fig. 2, if AB||CD then find the value of x.

E
P B

5x —20°

-
-
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17. In fig. 3, ZPQR= £ZPRQ, then prove that ZPQS= ZPRT.

P

18. See fig.4, and write the following :

Co-ordinates of point A
Abscissa of point D
The point identified by the co-ordinates (5, 4)

Co-ordinates of point C.
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SECTION-C

Question numbers 19 to 28 carry 3 marks each.

Represent J5 on the number line
OR

Locate /4.7 on the number line

— 1%
Express 5.347 in the form a where p and q are integers and q= 0.

Factorize (x—3y)3+ 3y —72)%+ (72 — x)3.
OR
Find the value of x3—8y>—36xy—216 when x=2y+6.

Factorise : 2+/2 a®+8b3—27c¢3+18/2 abc.
OR
Factorise : (ax +by)2 + (ay — bx)?

In fig. 5, AABC, is an isosceles triangle in which AB=AC, side BA is produced to D such that
AD=AB. Show that ZBCD is a right angle.

D

Fig. 5

In figure 6, D is a point on side BC of AABC such that AD=AC. Show that AB > AD.
A
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A triangle and a parallelogram have the same base and the same area. If the sides of the
triangle are 15 cm, 14 cm and 13 cm and the parallelogram stands on the base 15 cm, find
the height of parallelogram.

Find the value of 64x3+12523, if 4x+52z=19 and xz=5.

In the fig. 7, £X=72°, ZXZY=46°. If YO and ZO are bisectors of ZXYZ and ZXZY
respectively of AXYZ, find ZOYZ and £ZYOZ.

OR

In the fig. 8, AD and CE are the angle bisectors of ZA and ZC respectively. If ZABC=90°
then find ZAOC.

A

In AABC, BE and CF are altitudes on the sides AC and AB respectively such that BE=CF.
Using RHS congruency rule, prove that AB=AC.
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33.

SECTION-D
Question numbers 29 to 34 carry 4 marks each.

Find the values of a and b if :

7+3/5 7-3J5
- =a++5b
3+ 5  3-4 V5

OR

1
If a=7—4\/§, find the value of a + T
a

The polynomial p(x)=x*—2x3+3x2—ax+3a—7 when divided by (x+1) leaves the
remainder 19. Find the value of a. Also find the remainder, when p(x) is divided by x +2.

OR
Find the values of a and b so that (x+1) and (x—1) are factors of x*+ax> —3x2+2x +b.

Prove “If two lines intersect each other, then the vertically opposite angles are equal”.

In the fig. 9, the sides AB and AC of AABC are produced to points E and D respectively. If
bisectors BO and CO of ZCBE and ZBCD respectively meet at point O, then prove that

1
ZBOC=90°— 5 ZBAC.

/NN

Fig. 9

(i)  Multiply 9x2+25y2+15xy +12x — 20y + 16 by 3x —5y—4 using suitable identity.
(ii) Factorise : a2+ b?—2(ab—ac+bc).
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34. In the fig. 10, D and E are points on the base BC of a AABC such that AD=AE and
ZBAD= ZCAE. Prove that AB=AC.

A
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